## MUNICIPAL DISTRICT OF MACKENZIE NO. 23 BUDGET MEETING

**Tuesday, May 2, 1995** 

PRESENT:

Bill Neufeld, Reeve

Arly Roe, Deputy Reeve

Betty Bateman Jay Lanti Walter Sarapuk Pauline Flett Reuben Derksen

Ernest Dyck Edward Froese

**ALSO PRESENT:** 

Cindy Mazurek, Secretary Treasurer

Gary Mayhew, Manager of Public Works

Anna Neustaeter, Financial Coordinator, Recording Secretary

**ABSENT** 

Jake L. Peters

Minutes of the Budget meeting of the Council for the Municipal District of Mackenzie No. 23 held on Tuesday, May 2, 1995 in the Council Chambers of the Provincial Building in High Level, Alberta.

1.

**CALL TO ORDER** 

Bill Neufeld called the meeting to order at 1:24 p.m.

2.

**ADOPTION OF BUDGET** 

**MOTION 95-334** 

MOVED:

Walter Sarapuk

Council for the Municipal District of Mackenzie No. 23 adopt the 1995 budget.

**CARRIED** 

3.

<u>1ST READING - BYLAW #019/95</u> <u>TO ESTABLISH RATES OF TAXATION - 1995</u>

**MOTION 95-335** 

MOVED:

Walter Sarapuk

Council for the Municipal District of Mackenzie No. 23 accept 1st reading of Bylaw #019/95 to establish rates of taxation for 1995 as follows:

**Municipal** 

Residential - 8.25 Non-Residential - 9.25

School

Residential - 5.840

Non-Residential - 10.331

Linear - 11.295

CARRIED

Budget Meeting May 2, 1995 Page 2

**MOTION 95-336** 

MOVED:

Arly Roe

Council for the Municipal District of Mackenzie No. 23 accept 2nd reading of Bylaw #019/95 to establish rates of taxation for 1995 as follows:

Municipal

Residential - 8.25 Non-Residential - 9.25

School

Residential - 5.840 Non-Residential - 10.331

Linear - 11.295

**CARRIED** 

Council indicated their unanimous consent to give third reading to Bylaw #019/95.

**MOTION 95-337** 

MOVED:

Jay Lanti

Council for the Municipal District of Mackenzie No. 23 accept 3rd reading of Bylaw #019/95 to establish rates of taxation for 1995 as follows:

Municipal

Residential - 8.25 Non-Residential - 9.25

School

Residential - 5.840 Non-Residential - 10.331 Linear - 11.295

CARRIED

3.

1ST READING - BYLAW #020/95

TO IMPOSE A LOCAL IMPROVEMENT TAX ON FORT VERMILION SEWER LINE EXTENSION - PHASE 1

**MOTION 95-338** 

MOVED:

Walter Sarapuk

Council for the Municipal District of Mackenzie No. 23 accept 1st reading of Bylaw #020/95 to impose a local improvement tax on Fort Vermilion sewer line extension, phase 1, commencing in 1995, as per attached Schedule "A".

**CARRIED** 

**MOTION 95-339** 

MOVED:

**Edward Froese** 

Council for the Municipal District of Mackenzie No. 23 accept 2nd reading of Bylaw #020/95 to impose a local improvement tax on Fort Vermilion sewer line extension, phase 1, commencing in 1995, as per attached Schedule "A".

CARRIED

Council indicated their unanimous consent to give third reading to Bylaw #020/95.

**MOTION 95-340** 

MOVED:

Reuben Derksen

Council for the Municipal District of Mackenzie No. 23 accept 3rd reading of Bylaw #020/95 to impose a local improvement tax on Fort Vermilion sewer line extension, phase 1, commencing in 1995, as per attached Schedule "A".

**CARRIED** 

Budget Meeting May 2, 1995 Page 3

5.

## **ADJOURNMENT**

**MOTION 95-341** 

MOVED:

Edward Froese

Council for the Municipal District of Mackenzie No. 23 adjourn at 4:05 p.m.

**CARRIED** 

Reeve Muffe.

Financial Coordinator

## **SCHEDULE "A"**

## BY-LAW No. 020/95

2. That monies required for the repayment of the Fund for both the principal and interest at a rate of nine and one quarter per centum (9 1/4%) per annum shall be raised from the imposition of a local improvement tax levied at a rate of \$8.09 per linear metre of frontage per year for twenty-five (25) years commencing in 1995 on each of the lots benefiting from the installation of this service as set out below, and shall be levied on the annual notice of taxation and shall be payable annually on the date on which the annual tax notice is due and payable, and shall be collectable at the same time and in the same manner as other tax rates;

			Assessable Footage	Annual Cost per	Annual Cost for
Lot	Block	Plan	(Metres)	Metre	Parceis
	1	3383 E.T	127.01	\$8.09	1,027.51
1	1	5515 N.Y.	30.48	\$8.09	246.58
2	1	5515 N.Y.	30.48	\$8.09	246.58
3	1	5515 N.Y.	30.48	\$8.09	246.58
4	1	5515 N.Y.	30.48	\$8.09	246.58
5	1	5515 N.Y.	31.70	\$8.09	256.45
6	1	2777 R.S.	159.72	\$8.09	1,292.13
1	2	3383 E.T.	30.48	\$8.09	246.58

William Neufeld

Reeve

Cindy Mazurek

Secretary Treasurer

DATED AT THE TOWN OF HIGH LEVEL IN THE PROVINCE OF ALBERTA THIS SECOND DAY OF MAY, 1995.